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Numerical Methads -

rinding Azea By Simpsons  Rule . /Tvapezoidal Methods.
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Step 5: Obtain sum of odd data points’,
: ie.Sum=o0dd = Yr+rYa+Ys+.. -
Step 6 = Obtain sum of even daka points,
fe. Sum of ewen = YzrYat Vgt
step 70 Calanlake integid velue as,
1= _‘% [ Y +4 (Sum of odd)+ 2 (Sum ot even) +-?§n]
Step & - Display inte_qul
step 9 - Stop-




Flaw chart -

T (Stawt)
y

/ Read the -Numbey /

/ ot data s 0’ b

/ Read the Umits o} /

/ integya) , Say ‘Io/,m/

- y

h= (stn-29/n |------ | Step Siee

!

Ef. Prays
r. f‘"[_—?‘ in r'-.:-—'}..l

| i=4

|
o

iz Fldotih) |

[t: £+1i

e
\YES“(.LQ% >
Y

NO
Li=1 ]

|

Sum->0dd = 0 |
|

/1/

Sum - odd = Sum -odd +Yi |

I

e VYES
[(=2, suM-evenp=0|
S
. 4
\ ) Sum - even =Sum -even+ Y¢

] E= L+2]

N

ik ¢ <n-2

ﬁ‘% ?.1.0.




[ Integval = vé’_r (Yo+Yn + 4 (sum 0ch+ 2(sum even)|

Pint Integva) |

T &

=0 cf-oSH\ D’L@

% Qn \'ﬂ‘fﬂwra

— %QL \:r%s Nyl 9 &Q T\

Degision Tables : - wi= Ra

-}k”’Dﬁ"m&“OD fobhles ave qseOf. +4 Aa = LQ('“

A(i H Ne \eq"\ \j gncl QCMCP% C*'l/\-{ ‘LE\:&, Cl F?ka 5

Fa Pﬂb)&m IR 12 G PPN

r’lu Cet e b V)E A PM%J\J fr) e Hmﬂq |

mupﬂeq f)m blen~. L,os—)g .

‘J’L\_L\:{_ v LQQQ[ *‘0"(

PQQK'\DU&—QC}QLQ/I f{) OO ey ,f‘ﬂfﬁ]\f’l']w'?\'»‘r V?j q\/\cd,j}go -f'oa\

-lwi}?utfcm ot actuod COUnp

plg
o O Lo ¥

vie. 00
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To_use  Simpsons a3t vule , we musk bave  (2n+1) ordinates .
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¥ I | < given that . u= arbar cx®
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